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Enclosed are the results from the Clause 49 10GBASE-R PCS testing performed on:

Device Under Test (DUT): 10 Gigabit Ethernet Switch

Hardware Version: N/A
Firmware Version: N/A
Software Version: N/A
Miscellaneous: Tested on port 1

The test suite referenced in this report is available at the UNH-10OL website:

ftp://ftp.iol.unh.edu/pub/10gec/testsuites/Clause_49 PCS Test Suite v0.4.pdf

Issues Observed While Testing
Test 49.3.2: 64_GOOD - The DUT was observed to improperly acquire block lock upon reception of only 63
consecutive valid sync headers.

Test 49.3.3: 16 _BAD - The DUT was observed to require 17 invalid sync headers in a group of 64 blocks to lose
block_lock.

For specific details regarding issues please see the corresponding test result.

Testing Completed 08/09/2005 Review Completed 08/10/2005
John Q. Tester John Q. Reviewer
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johngtester@iol.unh.edu johngreviewer@iol.unh.edu
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University of New Hampshire — InterOperability Laboratory
DUT: 10 Gigabit Ethernet Switch /1

Digital Signature Information

This document was created using an Adobe digital signature. A digital signature helps to ensure the authenticity pf
the document, but only in this digital format. For information on how to verify this document’s integrity procegd 10
the following site:

http://www.iol.unh.edu/certifyDoc

If the document status still indicates “Validity of author NOT confirmed”, then please contag UNH-IQL fo
confirm the document’s authenticity. To further validate the certificate integrity, Adobe 6.0 0 regort the
following fingerprint information:

MD5 Fingerprint: DB27 087D 94C
SHA-1 Fingerprint: 5411 C271 9458 ECBpP

Result Key

The following table contains possible results aafl their meanings|

Interpretation

PASS The Device Under Test (QUT) was observed to exhibi

PASS with The DUT was observeq td e Z(blt\‘\ onformant berﬁi or h;/v%ebir ahjadﬁi ﬁkona Dgxp%ation of the
Comments situation is included, sych|as flue to\time limitations gnly ion of the testing was performed.
FAIL The DUT was observed td e>{h|b|t npn-conformant\bghafvior. .

Warning The DUT was obsgtved td ekhifit behaviof thhi is no} rdcomménded. /

Informative Results are for inforinativé gurposed only andlate notljudged or} a kags or fail basis.

Refer to From the obs ﬁ\iétio s,|a Va idl@s or fail could not|be determined. An additional explanation of
Comments the situgtiyn is included.

Not Applicable | The RUT dods not subport the techpology frequired th Rerfdrm theke tests.

Ngt Available Due td/testing station o} tifre limitations, the tests colld ot be [pefformed.

Bordetline (THe oBservéd| valugs ¢f/th¢ EpeCified paranjetdrs qpe’valid at ong ektreme, and invalid at the other.
Not Tebted ~ || Nbt tested duk tg the fifne [cpnstrdinis of th teft period.

m
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University of New Hampshire — InterOperability Laboratory
DUT: 10 Gigabit Ethernet Switch

Test Setup / |

- Lecroy

PC i WinZk & Wavepro 860
TCL, Matlab, Xilinx ISE,

™ Labwiew, Smartwindows) <AL
Parallel Serial Interface Ailinx WL321
F i 10 Gigabit as Pattern
Ethernet Switch (Zenerator
¢ F
XFP
Interface wilinx

. Parallel
K< ML10G éﬁi”ﬁi{‘k Cable IV
L asPattern R Fy !

Wilin JTAG Generator
Ll Parallel |fw - Receivar Parallel || Serial
Cable IV :
[, |Agilent 167028 SR [
Capture Logic Analyzer TCL, Matlab, ilinx ISE,
10100 Ethernet Contral Metwark  Output Labview, Smartwindows)

\/

e XFP interface and the XAUI
in est cases. Control access
f 2 PCs, an Agilent 16702B, a

Figure 1 above depicts the test setup
interfaces of the Device Under Test
to the DUT was provided via an E

'hig system continuously sends
w pattern. When the transmit

are used for five purposes:
via the network to control the DSO and download and process the waveforms in Matlab

¢ via the network to control the Logic Analyzer and download and process the captures signals in Labview
e viaan Ethernet connection to control the DUT
o via the parallel ports to download the firmware for the Xilinx ML321 and Xilinx ML10G
e via the Serial ports to control transmissions from the Xilinx ML321 and Xilinx ML10G
10 Gigabit Ethernet Consortium 3 Report Rev. 1.0
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University of New Hampshire — InterOperability Laboratory
DUT: 10 Gigabit Ethernet Switch

Sectionl: Detailed Table of Results
GROUP 1: Scrambler/Descrambler and Bit Ordering

Test# and Label Part(s) || Result(s)
Test 49.1.1: Transmit Scrambler a PASS
Comments on Test Procedure

Purpose: To verify the transmit scrambler polynomial. v
Procedure:

a. The Testing station is set up to capture and analyze a bit stream from the DUT. The DUT shquld uge the

defined scrambler polynomial. /\ /\
A

Comments on Test Results

T
a. The DUT was observed to properly use the defined scrambler pﬁyno\mi/{\ /\ \ [ /

est # and Labe Pa Re
Test 49.1.2: Receive Descrambler -b PAS
Comments on Test Procedure
Purpose: To verify the receive descrambler polynopnial.

Procedure:
a. The DUT is sent validly scramblgd\data. gement ipdications|and trangmigsigns from the DUT are
observed. The DUT should be afiJe td Iqck|o nd recover valjdly\scramblgd da
b. The DUT is sent invalidly scrgmiyled data th t| hefwise Yalid.| Management {nd catlons and transmissions
from the DUT are observed ghopld not bejable t¢ lock{on to\and pecover invalidly scrambled data.

A\ JA

Comments on Test Results

%4
The|DUT, obs!rved propenly {logk o recover ngy scrambled data
. ﬂhe DUT wag opserved|td properly not lock and recovér invalidly scrambléd data.
N

est # and Labe Pa Re
est 49.1.3: Fransiit bjt prdefin \ a PASS
Comments on Test Procedure

POxpose: [Tp vérify|the frans iwt brdering.

Prgcedur
The [Testhng statior] ig’set up tq cdpture and analyze a bit stream from the DUT. The bit ordering of the DUT
shoyl matﬂh Figures 49-2 and 49-5.

Comments on Test Results

N\
A\% DUT was observed to utilize the proper bit ordering.

10 Gigabit Ethernet Consortium 4 Report Rev. 1.0
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University of New Hampshire — InterOperability Laboratory
DUT: 10 Gigabit Ethernet Switch

Test 49.1.4: Receive bit ordering

PASS

Comments on Test Procedure

Purpose: To verify the receive bit ordering.

Procedure:

a. The DUT is sent a bit stream with the proper bit ordering. The DUT should be able to lock on to arfd fecoyer

data with the correct bit ordering.

b. The DUT is sent a bit stream with an improper bit ordering. The DUT should not be able fo lotk jon to and

recover data with an incorrect bit ordering.

2\

A

Comments on Test Results

a. The DUT was observed to properly lock on to and recover ¢
b. The DUT was observed to properly not lock on to and reco

ata with the ¢Orrgct
er dfia ith/the incq

rref\bi

bit'ordefing.

rderipg

@%

10 Gigabit Ethernet Consortium 5
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University of New Hampshire — InterOperability Laboratory
DUT: 10 Gigabit Ethernet Switch

GROUP 2: Coding Rules

Test# and Label Part(s) || Result(s)
Test 49.2.1: 64B/66B Transmitter Block Encoder a PASS

Comments on Test Procedure
Purpose: To verify that the DUT can properly transmit and encode valid 66-bit blocks.

Purpose:
a. The DUT is instructed to transmit one of the following blocks:

DD;1D,D4/D,DsDeD; | OgD1D,D4/S:DsDgD; | ToCi1CoCal278:CeC; | DoD1 5N/ TECsCeCy
CoC1CyC4/C4CsCeC; | OyD1D,D3/0,DsDsD; | DoT:Cx25/CuChCeC; | D2{D,DW/ D4 T5Co
CoC1CyC4/0,DsDgD; | SoD1D,D4/D4DsDeD; | DoD: T,Co/CsCiCsC; | DIDJD,DYD,O5T6C;

<]

CoC1CyC4/S4DsDsD; | OgD;D,D3/C4CsCeC; | DoD1,T5/C4CIC4 \DJD:1D,DYD, D5 T, f
The DUT should properly transmit and encode all valid 66-bit blocks.
b. The DUT is instructed to transmit one of}he following blocks: /\
Sync | Block type | Co C. C, Cs Co [ €] [[Co 4, |
10 | Ox1E 0x00 | px2D [ 0x33 | 0x4B Y'0x55 6 | [oxfg| | okoo”
10 | Ox1E Ox1E | Px1E | O%4E | Ox1E | OxJE|| Ox1E | [ox1H | [0k1E
v/

The DUT should properly transmit and encode all yalid control ¢odes.
c. The DUT is instructed to transmit one of the follpwing bIocks:\

Sync | Block type [Aph \[D,| | [[D 01 D, ||| B¢ [[|pd\V/] D;
10 | 0x55 akoo || bxpg [[oxo1] [ oxd | ¢xo | oxoqd ||oxpo | oxo1
10 [ ox55/ \ [ 0xo0 || bxpd [‘ox01] | oxd | dxF | | ox0p |loxpo | oxo1
10 [ 0x5%/ | [ ox00 [ px0d | 0xpd | oxi | OxF | [\ax00 ||oxPpo | 0x0

T DU should prOf)elyly t?\bnswt anf 1ncaje ol v?% O codes \/
—1

omments on Test Results

\Y%

Twa observyed|tq properflyjencade|and transmit all valid 66-bit blocks.
eD T as observed|tg properly/encodeland trapsmit all valid control codes.
he D r

as|opseryed|ta properly encade|any tgansmit all valid O codes.

"

10 Gigabit Ethernet Consortium 6 Report Rev. 1.0
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University of New Hampshire — InterOperability Laboratory
DUT: 10 Gigabit Ethernet Switch

Test 49.2.2: 64B/66B Transmitter Invalid Block Handling

a PASS

Comments on Test Procedure

Purpose: To verify that the DUT does not transmit invalid blocks or control codes.

Procedure:

a. The DUT is instructed to transmit one of the following blocks:

CoC1C,Ca/D4DsDeD; | CoCiC,Co/T4CsCeCr | DoD;D,D5/S4DsD¢D; | DyD;D,D3/0,DsD¢D;
T0C1C2C3/D4D5D5D7 TOC1C2C3/S4D5D6D7 TOC1C2C3/O4D5D6D7 SQD1D2D3/C4C5th7
SeD1D;D5/T4CsCsCr | SD1D2D3/04DsDeDy OoDlDzDa/D4D§DBD7 OOD1D2D3//1-A}C5d6C7
ToC1CoCalT4CsCeCr | SoD1D,D3/S,DsDeD; \ N

The DUT should encode all invalid blocks as errors.

A

|

Comments on Test Results

J]

a. The DUT was observed to properly enca@ all invalid blocKs as e rofs./ /\ \ ,
L

\J

10 Gigabit Ethernet Consortium
Clause 49 10GBASE-R PCS Test Suite v0.4
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University of New Hampshire — InterOperability Laboratory
DUT: 10 Gigabit Ethernet Switch

Test 49.2.3: 64B/66B Receiver Block Decoding and Control Code Mapping a-c PASS

Comments on Test Procedure

Purpose: To verify that the DUT can properly receive and decode valid 66-bit blocks.

Procedure:
a. The testing station is instructed to transmit one of the following blocks to the DUT:

N\
D¢D1D,D3/D4DsDeD; | 0gD1D,D4/S;DsDeD7 | ToC1C,C5/CuCsCeCr | DoD1D2D/T4FsCole-
CoC1C,C4/C4CsCeC; | OgD1D,D3/04DsDeD; | DoT1C,C5/C4CsCeC; | DoD1D,Da/DJT5Colt-
CoC1C,C4/0,DsDgD; | SyD1D;D4/D4DsDeD; | DoD: T,Cof278&sCsCr | DoD:D0N:/DfDsTel
CoC1CyC4/S4DsDsD; | OgD;D,D3/C4CsCeC; | DoD:1DACuCsCeCr | D2D,Dy/D.DsDs T

The DUT should properly receive and decode all valid 66-bit blacks. ¥

b. The testing station is instructed totransmitoneofthefolloming})\lochst the DUT:
SynC Block type Co C]/ C, Cs d. Cﬁ\ Ce o
10 | Ox1E 0x00 | @x2D | 0x33 | 0x4B | 0x5% | dx&6 | [ox[8| | pix0
10 | Ox1E Ox1E | px1E | ox1E | 0x1E | @x1E || Ox1E | [ox{LE | Px1E

A\
C.

The DUT should properly receive and decodg a|l validsontrol cpdes. U

d. The testing station is instructed to transmit pne/of the following bldck toy/DUT:
Sync | Block type | D, D,| [[Rs | 10| NOa\ [ Ps—|Ds D;
10 | 0x55 0x00\ | Pbxo] [/okod | oxd | bxol [| dxpo ]| [oxpo | oxo1
10 | 0x55 L0x00\| px0qd [[oxo1 [ oxd | bxF| || 0x00/] |oxPe/| 0x01
10 Jox55 | akool| bxfd [[oxod | oxE | oxF| | ox0q |[oxpo | ox0

The DUT should properly re7éi\)\eenc decqdp allvalid O ¢odes. \ \/

/N N\ Ja)

Comments on Test Results

he DUT wag opserved|td propenly |decade|and Fecejve all valid control codes.

h T wag opsefved|ta propenly (decqgde|and receive all valid O codes.
N

[e}e]

|7
The|DU obs!rved plloae ly |[decade| and {receiive all \yL 66-bit blocks.
g

J Y

10 Gigabit Ethernet Consortium 8 Report Rev. 1.0
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University of New Hampshire — InterOperability Laboratory
DUT: 10 Gigabit Ethernet Switch

Test # and Label . Part(s) Result(s)
Test 49.2.4: 64B/66B Receiver Invalid Code Handling a-d PASS
e Not Tested

Comments on Test Procedure
Purpose: To verify that the DUT properly handles the reception of invalid codes and blocks.

Procedure:

a. The testing station is instructed to transmit a frame with one data block containing an invalid
The DUT should replace the received blocks with EBLOCK_R<71:0>, and should not recei

b. The testlng station is instructed to transmlt otherwise valid idle blocks with the OX1E block ype fiel

EBLOCK_R<71:0>.

c. The testing station is instructed to transmit otherwise valid ¢
replaced with a reserved control field. The DUT should rep
EBLOCK_R<71:0>.

d. Instruct the testing station to transmit continuous sequence
code of 0x0, and indicating remote fault. The DUT should
EBLOCK _R<71:0>, and should not indjeate reception of re
have a value of 0x0.

e. Instruct the testing station to transmit a Blo¢k containing ong

/N

CoC1C,Ca/D4DsDgD; | CoC1C,Ca/T4CACHC, /[ Do:D2Ds

ToC1C,C/D4DsDeD; | ToC1C,C4/SiD4DeD7 [ | ToG1C,Ca/P4DsDeD+

SoD;D,D3/T,CsCeC; | SoD1D,D3/0,DDED} | Ol D2Ds/D.RsDP

ToC1C,Ca/T4CsCeC; | SoD:D,D¢S,DIDID} /)

The DUT should replace the receideVéIodrs wiﬂ EFﬂO K_R471 OY. \

Comments on Test Results

w

BASE-R (

t{do|not

Q'

D/CaGsCiC: /
2D3/T4¢:5C6\e{

\/

ceived blpcks EBLOCKs If FASTSYNC was set to
erved to trapsmit LK in re onsetothe invalid sync header.

hcel the regeiyed blockg with EBLOCKS
i s with EBLOCKs

The DUT was obsgerve to;)

Result(s)
Not Performed

Comments on Test Procedure
:[To Jerfify|that thﬁ propérly inserts and delete idle

nirol charagters’ (/1/) are trangmitted when idle control characters are received from the XGMII. Idle
ded or deleted by the PCS to adapt between clock rates. /1/ insertion and deletion shall occur
n grougs f 4/ “/s may be adde ollowing idle or ordered sets. They shall not be added while data is being

Comments on Test Results

This test is still under development and was not performed.

10 Gigabit Ethernet Consortium 9 Report Rev. 1.0
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University of New Hampshire — InterOperability Laboratory
DUT: 10 Gigabit Ethernet Switch

Test # and Label Result(s)

Test 49.2.6: Sequence Ordered_set deletion a Not Performed
Comments on Test Procedure

Purpose: To verify that the DUT properly deletes ordered_sets. /
Sequence ordered_sets may be deleted by the PCS to adapt between clock rates. Such deletion shall gnly ocgur

when two consecutive sequence ordered sets have been received, and only one of the two ordgred\sets may4pe
Z\ N

Al

1N
@ U

Comments on Test Results

This test is still under development and was not performed.

>
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University of New Hampshire — InterOperability Laboratory
DUT: 10 Gigabit Ethernet Switch

GROUP 3: Lock State Machine

Test# and Label  Part(s) Result(s)
Test 49.3.1: Identification of sync header a-b PASS
Comments on Test Procedure

Purpose: To verify that the DUT properly identifies valid and invalid sync headers.

Procedure:
a.  The testing station is instructed to transmit a continuous stream of blocks with a sync header/of ejth

or ‘10’

b. The testing station is instructed to transmit a continuous stregnf of blpcks with a haader
“11°. The DUT should not achieve block _lock while receiving an in¢oming bit strgam wi

‘00’ or “11°. /\
VA

Comments on Test Results

b. The DUT was observed to properly not aghieve block lock while receiping @ |continupiis stteam [of [blocks
with sync headers of ‘00 or “11°. /\

a. The DUT was observed to properly achiéle block_lock while|regeiying ja cont(nupus stieam of plpcks wih
sync headers of ‘01’ or “10’.

R [ —]
Test # and Label Part(s) Result(s)
Test 49.3.2: 64 GOOD N Va N/ FAIL

Comments on Test Procedure

Purpose: To verify that the D

on/is instruqgtqd to frangmi 1 validusync header followed by 1 block with an
UT is observed to aghigve block lock. The DUT

tern of 64 or moreXalid sync headers, followed

ndeds to skd 64 ¢onsecutive valfd erjaWefo e achieving block_lock.

der. The valu¢ of nfisfimcr

plock aftel recgiving a cont
id ﬁnc header.

Results

bséryed|ta improperl af«lve block_lock after receiving a continuous looping pattern of 63
lid| synq headler folloyved by one block with an invalid sync header. The DUT properly did
k_lock gfter|racel\ixng a continuous looping pattern of 62 blocks with a valid sync header
blpgk with an|invalid sync header.

o

10 Gigabit Ethernet Consortium 11 Report Rev. 1.0
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University of New Hampshire — InterOperability Laboratory
DUT: 10 Gigabit Ethernet Switch

Test 49.3.3: 16 BAD a FAIL

Comments on Test Procedure

Purpose: To verify that the DUT needs to see 16 out of 64 invalid sync headers before slipping.

Procedure:
a. The testing station is instructed to transmit a set of 64 blocks containing n blocks with invalid syn¢ hgaders.
The value of n is increased until the DUT is observed to lose block_lock. The DUT shoul?e\eb odk_lack

after receiving 16 invalid sync headers out of a group of 64 sync headers.

Comments on Test Results

a. The DUT was observed to improperly maintain block_lock upon rdception of |16{invalid synt h }ders inla
group of 64 blocks. The DUT was observed to lose block_Jock upo refﬁ?v of 17 injalid synd heafers jn

a group of 64 blocks.
N N

10 Gigabit Ethernet Consortium 12 Report Rev. 1.0
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University of New Hampshire — InterOperability Laboratory
DUT: 10 Gigabit Ethernet Switch

GROUP 4: BER Monitor State Machine

Test # and Label Result(s)

Test 49.4.1: Value of 125us_timer a Not Performed
Comments on Test Procedure

Purpose: To verify that the value of the 125us_timer is between 93.75us and 126.25ps. Z

a. The 125us_timer described in Figure 49-13 must take on a value of 125us +1%, — 25%. Thetiuer|is fise¢d to

set the hi_ber flag if more than 16 invalid sync headers are found within the window of 125us. \The DUTlis
instructed to send 15 invalid sync headers to the DUT. The transmit station is then ingtructed to send|1

invalid sync header a specific amount of time later. Indicgtions and transmissions ffom the [DUT are
observed. The DUT should set the high_ber flag if it recgiVes 16\invalid syne headgrs Wﬂin

L |

i

Comments on Test Results

This test is still under development and was rpr performed. ) } / /\
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University of New Hampshire — InterOperability Laboratory
DUT: 10 Gigabit Ethernet Switch

GROUP 5: Transmit State Machine
e H adnd ape a

Test 49.5.1: Identification of T TYPE(C) a-c

PASS

Comments on Test Procedure

Purpose: To verify that the DUT properly identifies the reception of T_TYPE(C) vectors.

Procedure:
a. The DUT is provided with the following XGMII bit streams to transmit:

C, |C ]C |G, Ca Cs |G |G
0x07 | 0x07 | 0x07 | Ox07 | 0x07 | 007 | 0x07 | Ox07

0x1C | 0x3C [ 0x7C | 0xBC | 0xDC J0xF7\| 0x07 | 0x01/

The DUT should properly encode all 72-bit vectors.

b. The DUT is provided with the following XGMII bit streamg to tran341it:/\

A N
Co [C [C [C [0s [[Bs] [ D [\Df
0x07 | 0x07 [ 0x07,] 0x07 | 0x9C| | 0xdo | ¢xqf | ko1
0x07 | 0x07 [ 0x@7 || 0x07 | 0x9C| | ¢x¢0 | pxpo| | ko2
0x07 | 0x07 [ 0x97 || 0x07 | 0x9C| | OxA2 || JoxB4| | bX54
0x1C | 0x3C [ oxjc|| oxBC | 0x9C| | 6x00/[ [oxbe” | pko1
0x07 | 0x07 [ 0xP7 || 0xg7\| 0x5C| | 0x0Q/ [[0x00 | pxO
[\ §

o} D, D, D, [|C, Cs |\ Cs Ci
0x9C | 0x00 | 0xpO || px04 [{0x07 || okp7 | Ox47 1 0x07
0x9C | 0x00/[\oxDo || Joxp] [lox07 || oxd7 | Oxd7/[ px07
0x9C | oxTH | OxB4[||0x56 ||ox07 || ox47 [\ ax07 | ox07|
0x9C~| oxop [ dxbo||[o ox1C || okdc [|dx7C [/0xBd
0x5€ | 0xk00 [ dxbo [[[ox0o1 [[ox07 | oxoF [l0k07 [ 0X07

The/DNT should proper codﬁell 72-bif Vecldrs. (o

d DUT is provkj}g th the[following XGMI¥Dit streamq totrahspit:
]

Oy O, 0, DI/ Jo, [Lbs |[Ds |Df
(0)%¢ 0x0 okpo [[{1ox01 [ 0x9C”| 0x00 | 0x00 | Ox01
ox9a | [okod | oxo || l0x02 /| 0x9C | 0x00 | 0x00 | 0x02
0x9¢ | [okoq /| dxPo || Bx01/| 0x9C | 0x00 | 0x00 | 0x02
0x9¢ |[okoov | gxpo || Ox0Z | 0x9C | 0x00 | 0x00 | 0x01
Ox9¢ [[0ko0 | OxP0 | 0x01 | 0x9C | 0x12 | 0x34 | 0x56
Ox9¢ [[ok12 | bxB4 | 0x56 | 0x9C | 0x00 | 0x00 | 0x01
0x9¢ |[oko® |/0x00 | 0x02 | 0x9C | 0x12 | 0x34 | 0x56
Ox9¢ |[0k12™ 0x34 | 0x56 | 0x9C | 0x00 | 0x00 | 0x02
Ox5G [Jokod | 0x00 | 0x00 | 0x9C | 0x00 | 0x00 | 0x01
x93 0k0O | 0x00 | 0x01 | 0x5C | 0x00 | 0x00 | 0x00
Ox5C | 0kOQ | 0x00 | 0x00 | 0x9C | 0x00 | 0x00 | 0x02
0x9C [ 0k0® [ 0x00 | 0x02 | 0X5C [ 0x00 | 0x00 | 0x00
0x9C | Ox12 | Ox34 | 0x56 | 0x5C | O0x00 | Ox00 | 0x00
0x5C | 0 0x00 | 0x00 | 0x9C | 0x12 | 0x34 | 0x56
0x5C | 0x00 [ 0x00 | 0x00 | OX5C | 0x00 | 0x00 | 0x00

JT should properly encode all 72-bit vectors.

<continued on next page>
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University of New Hampshire — InterOperability Laboratory
DUT: 10 Gigabit Ethernet Switch /1

Test 49.5.1: Identification of T TYPE(C) a-c PASS
Comments on Test Results

a. The DUT was observed to properly encode all 72-bit vectors.
b. The DUT was observed to properly encode all 72-bit vectors.
c. The DUT was observed to properly encode all 72-bit vectors.

Test# and Label

Test 49.5.2: Identification of T_TYPE(S) A a HASY /
Comments on Test Procedure
Purpose: To verify that the DUT properly ideyt'fies the reception of| T [ TYPE() vectors. \/
Procedure:
a. The DUT is provided with the followind X{GMII bit streamg to fransm|t:
/\
So D, D, 0, D, Ds (|Ps D]
OxFB | 0x55 | 0x55| | Px55 | 0x55 || 0x55\| Px58 | 0XD5
The DUT should properly encode all 72-bit yectorg.
b. The DUT is provided with the follgwng XGMI[ Bit 4treamg to thansmit:
Co d, ¢, ci/ 1ls. Ds| [[Ds |/Df
oxo7 \ oko xp7 [|]0x07 [{oxFB|| dx85 [|0x55 | 0455
/0x1C || 0k3CA| OxFC||[0xBC ¥ 0xFB|| @x35 ||0x5%" | 0155
V [ i \
Oo El I:z D& ,/']S4 [)5 v De D7
0x9< |{okop [ okbo|[[{ox01 | oxFB|| @x55 | 0x55 | 0159
0x9q |[okop [ oxpo|[loxt2 | 0xFB*] 0x55 | 0x55 | 0x55
0x9¢ |{ok12 | oxB4|[\ox56 /| 0xFB | 0x55 | 0x55 | 0x55
ox5a |[oko xp0 || bx00/ | OxFB | 0x55 | 0x55 | 0x55
he\RUT sholulfl prdpefly eTcnde 41l 72-bit \rectors_/
Comments on Test Results
a\ The DYUT yas|opseryed|ta prope Mncodeall?Z—bitvectors.
b.\_The DUT/was|obseryed|tq propenly encode all 72-bit vectors.
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University of New Hampshire — InterOperability Laboratory
DUT: 10 Gigabit Ethernet Switch

PASS

Test 49.5.3: Identification of T TYPE(T) a

Comments on Test Procedure

Purpose: To verify that the DUT properly identifies the reception of T_TYPE(T) vectors.

Procedure:
1. The DUT is instructed to transmit the first of the following 72-bit vectors to the testing station, and (isipg
0x07 for all control characters:

ToC1C,C3/C4C5CsC; | DgD1D,D4/T4C5CCy

D T1C,C3/CyCsCsC; | DoD1D,D3Y 5CoCy

DyD;T,C3/C4CsCsC; | DgD1D 3/D4[§35TGC7

DyD1D,T3/C4C5CsC; | DgD1[D2D3/D4OsDs T+
The DUT should properly encode all 72-bit vectors. /

P N
Comments on Test Results
a. The DUT was observed to properly encﬁ all 72-bit vectorp. / / / /\ \ , \ / / \/
l/ A4
est # and Labe Pa Re
Test 49.5.4: Identification of T_TYPE(D) a ASS
Comments on Test Procedure
Purpose: To verify that the DUT propeyly \ddntifigs the refeption of T_TYPE(D) vectork.
Procedure:
a. The DUT is instructed tp transmit all valig ¥2-bit data blogks| The IDUT should properly encode all 72-bit
/V@w\tors.
A A

Comments on Test Results

pJo oenly

T
%. ﬂhﬂD%va opserved|t encaode] a\l Y\EZb%vectors.

. W
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University of New Hampshire — InterOperability Laboratory
DUT: 10 Gigabit Ethernet Switch

est # ana Labe Pa Re
Test 49.5.5: Identification of T TYPE(E) a PASS
Comments on Test Procedure
Purpose: To verify that the DUT properly identifies the reception of T_TYPE(E) vectors.

Procedure:
a. The DUT is provided with the following XGMII bit streams to transmit:

Co C, |C [|C [|C |C [|C |C

0x07 | 0x07 | 0x07 | 0x07 | 0x07 | 0x07 | 0x07 | OXFE
0x07 | 0x07 | 0x07 | 0x07 [ 0x07 | O OxFE | 0x07
0x07 | 0x07 | 0x07 | 0x07 | 0x07 LOxFE | 0x07 | 0x97/
0x07 | 0x07 | 0x07 | 0x07 | OxFE|| 0x07 [| 0x07_| 0407
0x07 | 0x07 | 0x07 | OXFE | 0x07 || 0x07 [[0xQ7 )\0X07
0x07 | 0x07 | OxFE | 0x07 | 0x07 || 0x87 [[0407 [10407 f
0x07 | OXFE | 0x07 | 0x07 | 0x07 || ofxof [|ok07 | byo7|
OXFE | 0x07 | 0x07,| 0x07 [ 0x07 || ox0f [|gxopy | 9407
The DUT should properly encode all 72-bit fctors as T_BLOCK_TYPE 7)/ \

Comments on Test Results

L
a. The DUT was observed to properly encqde all/@vectors as T_%LOC;ZTJY 3Ebv). / \ /

Test # and Label Result(s)
Test 49.5.6: TX_INIT state 3 Not Tested

Comments on Test Procedure

Pyfpose\ To verify thathe DUT prppdrly behaves wiile in the TX IN\}s‘tate.
rocedure:
. ﬂhe isi st‘rucﬁd tﬂes et] VWhen peing feset, tHe DUT should continuously transmit local fault blocks.

Comments on Test Results

’L v %
%. %ﬁt‘s,(%s gt performed during th%tast ng period.

W

>
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University of New Hampshire — InterOperability Laboratory
DUT: 10 Gigabit Ethernet Switch

Test 49.5.7: TX_ C state a-c PASS

Comments on Test Procedure

Purpose: To verify that the DUT properly behaves while in the TX_C state.

Procedure:
a. The DUT is instructed to transmit continuous control blocks such that it enters the TX_C state. The/D
should properly encode all 72-bit vectors and remain in the TX_C state while transmitting C blecks
b. The DUT is instructed to transmit an S control character while in the TX_C state. The DUT/shoyld|prop
encode all 72-bit vectors and transition to the TX_D state while transmitting an S block.

c. The DUT is instructed to transmit an S control character while i TX C state;ﬂ'%rﬁgi\s repeate

transmitting both D and T blocks. The DUT should properly eficode\all 72-bit v
TX_E state when transmitting E, D, or T blocks.

JA\

Comments on Test Results

a. The DUT was observed to properly remain, in the TX_C stafe.
b. The DUT was observed to properly transitipn to the TX D state.
c. The DUT was observed to properly transitipn to the TX_E gtatg.

L

e H ald ae a
Test 49.5.8: TX_D state A N aze] PASS
Comments on Test Procedure
Purpose: To verify that the DUT progbfly behaye \Awe if the TX_D|stafe] “ \V4

Procedure:

. isi ¢ trahsmit a valid data blockxvhile ip the TX _D'state. The PUT should properly
tons and remain in the [TX_D-tate.
b/ The\DUT is insfrugted to trapsmit ajvalid T|hlogk while in the TX W& state. The PUT should properly encode

pn tq the TX_T state.
ransmif a alid E|bjoc ilein tM’X_D state. This1s/repeated using valid S and
d Tr)p rly engode all 72-bit vectors and transition to the TX_E state.

Comments on Test Results

The\DUT Avas|opsgrved|tg properly rgmaip'in the TX_D state.
The \DUY was|opsgryed|tg properly tyansition to the TX_T state.

The /ras obsgrved|tg propernhy transition to the TX_E state.

o
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University of New Hampshire — InterOperability Laboratory
DUT: 10 Gigabit Ethernet Switch

Test 49.5.9: TX T state a-c

PASS

Comments on Test Procedure

Purpose: To verify that the DUT properly behaves while in the TX_T state.

Procedure:

a. The DUT is instructed to transmit a valid C block while in the TX_T state. The DUT should prqperly gn¢gde
all 72-bit vectors, and transition to the TX_C state.

b. The DUT is instructed to transmit a valid S block while in the TX_T state. The DUT should proper]y eyitode
all 72-bit vectors, and transition to the TX_D state.

a. The DUT is instructed to transmit a valid E block while in tHe TX\ T state. This|ls rep using valid [D
and T blocks. The DUT should properly encode all 72-bit viectors, and transition tq the .

/\ y

Comments on Test Results

a. The DUT was observed to properly transition to the TX_C state.

b. The DUT was observed to properly transgitipn to the TX D statg.

c. The DUT was observed to properly transitipn to the TX_E gtatg.

est # ana Labe Pa Re
Test 49.5.10: TX_E state -d ASS

Comments on Test Procedure

Purpose: To verify that the DUT properiy\oehajeg while ih the TX_|E|sta V \/
Procedure:
a. The DUT is instructed to/transmit a valig D hlock whijle in the E $tate. The PUT should properly encode

72-bit vectors an

he TX| E state. The

e TX_E state The D

DUT should properly encode

9' should properly encode

Comments on Test Results

—
. The\DUY was|obsgrved|tq p oae:kjansition to the TX_D state.
The as|opseryed|ta properly fransition to the TX_C state.
c.\ The DUT Ayas|opseryed|ta propernly transition to the TX T state.
d. Xhe obsgryed tg properly remain in the TX_E state.

10 Gigabit Ethernet Consortium
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University of New Hampshire — InterOperability Laboratory

DUT: 10 Gigabit Ethernet Switch
GROUP 6: Receive State Machine
est # and Labe Pa Re
Test 49.6.1: Identification of R_TYPE(C) a-c PASS
Comments on Test Procedure
Purpose: To verify that the DUT properly identifies the reception of R_TYPE(C) vectors.
Procedure:
a. Instruct the testing station to transmit a block containing one of the following encodings:
Sync | Block type | Co C: C, Cs Cs Cs Cs C,/
10 | Ox1E 0x00 | 0x00 | 0x00 | 0x00 0 [ 0x00 | 0x06 \ 0400
10 | Ox1E 0x2D | 0x33 | 0x4B | 0x557] 0x66 | 0x78 | 2%00 |\ 0%00
The DUT should properly decode all 66-bit vectors.
b. Instruct the testing station to transmit a block containing on¢ of the fA Iloyﬁnb\encodings ¥
A N
Sync | Block type | Co C: C, Cs Q. Ds |[|Ds D,
10 | 0x2D 0x00 | 0xp0 [ 0x00 [ 0x@0 | ox0| | 0xo |[[oxPq] | [Ax0N
10 | 0x2D 0x00 | px00 [ 0x00 [ 0xd0 | gx0[ || gxo | [oxpa] | [Axop
10 | 0x2D 0x00 | pxfo [ 0x00 [ 0xd0 | #x0 || ¢0xqo | [oxpq] | ox0Q
10 | ox2D 0x00 | pxf0 [ 0x00 [ 0xd0 T oxH || 0x00 | [oxpd | Joko0”
10 | 0x2D 0x2D | px$3 m\s 0x45 Ox{b 0x00 0xV Io§§01
Sync | Block type | D, D,| /| D; | | O C\ e [lce [[c\
10 | 0x4B 0x00 | DxQ0 /| 0x01] | 0x0 x0D || 0xqo]| [ox00 | 0x00
10 | 0x4B 0x00\ | Pxqo] [ ox02] | oxd | Ox0d || AxPo /| [0xRO /| 0x00
10 | 0x4B 12 \| px34 |[ox56] | oxq | 4x0q || ox00/ | [oxPe” | ox00
10 | ox4B ~ | Okoo | Px00 00| | oxH | dxoo | oxoq ||oxpo | 0x00
10 |ox4B/ \ [ox00 | pxdq | ox01] | oxd | ok2D )\ 0x38 |[ox4B | 0x55
The/DNT should properly dgcode Il 66-bit Yectdrs. Lp} (4
c./ Instruct the testipdg]statipn to|trangmit 4 Blo¢k corftaining ong of the following encodlings:
Sync|| Block typd | D, D, | | [ID—7] 00| [ O | Ds Ds D,
710\ || Ox55 oxop || oxdo| | Yoxo1 | ox0] £ 0x0 | 0x00 | px00 | 0x01
10| || 0x55 oxop [l oxdol | 6x0Z | 0x0™ | 0xO | 0x00 | Ox00 | 0x02
10 | || gxb5 0x0p [ xdo\| ox0L [ 0x0 | 0x0 | 0x00 | 0x00 | 0x02
10 | || 9xp5 0x00 | 0xdo \| ox@2 [ 0x0 | 0x0 | 0x00 | 0x00 | Ox01
10 | || 0xp5 0x00 | 0xd0 NO%01 | 0x0 | OxO | Ox12 | Ox34 | Ox56
10 | [| dxb5 0x12 || 0x34 [ 0x56 | 0x0 | 0x0 [ 0x00 | 0x00 | Ox01
10 | || 9xp5 0x12/| 0%34 [ 0x56 | 0x0 | 0x0 [ 0x00 | 0x00 | 0x02
10 | || 9xp5 0%0Q/ | 0x00 [ 0x02 | 0x0 | Ox0 | Ox12 | 0x34 | 0x56
Ao | [| dxb5 OKI2 | 0x34 [ 0x56 | OXF | 0x0 [ 0x00 | 0x00 | 0x01
0 | |[ oxp5 0k12 | 0x34 [ 0x56 | OXF | 0x0 [ 0x00 | 0x00 | 0x02
0 | |[ oxp5 0k00 | 0x00 [ 0x01 | 0x0 | OXF [ Ox12 | 0x34 [ Ox56
po | || oxb%’ 0k00 | 0x00 [ 0x02 | 0x0 | OXF | Ox12 | 0x34 [ Ox56
Y10 | || 9x55 0k12 | 0x34 [ 0x56 | OXF | OXF | 0x78 | OX9A | OxBC
1o | M ox55 0k12 | 0x34 [ 0x56 | 0x0 | 0x0 | 0x78 | OX9A | OxBC
he DUT shouldproperly decode glr66-bit vectors.
Comments on Test Results
a\ The DUT was observed to properly decode all 66-bit vectors.
b.~The DUT was observed to properly decode all 66-bit vectors.
c. The DUT was observed to properly decode all 66-bit vectors.
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University of New Hampshire — InterOperability Laboratory
DUT: 10 Gigabit Ethernet Switch

est # and Labe Pa Re
Test 49.6.2: Identification of R_TYPE(S) a-c PASS
Comments on Test Procedure
Purpose: To verify that the DUT properly identifies the reception of R_TYPE(S) vectors.

Procedure:
a. Instruct the testing station to transmit a block containing one of the following encodings:

Sync | Block type | Cq C. C, Cs Ds Ds D;/
10 0x33 0x00 | 0x00 [ 0x00 [ 0x00 [ 0x0 | 0x55 | 0x55 | Oxb5
10 | 0x33 0x2D | 0x33 | 0x4B | 0x55 [ Xy | 0x55 | 0x56 \ 0455
The DUT should properly decode all 66-bit vectors and receive the frama.

b. Instruct the testing station to transmit a block containing on¢ of the following engying

Sync | Block type | D, D, D; 0| [ A Ps \[Ds p |10

10 | 0x66 0x00 | 0x00 [ 0x01 | ox0 [ox0 | |[/ox55|||ox55| | 0

10 | Ox66 0x00 | 0xQ0 [ 0x02 | 0xd | 0%0 | | 0x65 | [0xb5| | [Ax5
0
0

10 | 0x66 0x12 | px34 [ 0x56 | oxq | oko| | gx45 | [oxp5
10 | 0x66 0x00 | pxQ0 [ 0x00 | oxH | oxo0[ || 9xd5 | |oxb5
The DUT should properly decode all 66-bit Jecfors and receive fhe framg.
c. Instruct the testing station to transmit a blo¢k cming ong of the following gncodings

Sync | Block type | D, | [[D/ b: |[ID. [\D} 1Ds| | D/
10 | 0x78 0x55 || 055+ | Ax55 [[oxb% | X559 |0%56 | 0xID5

The DUT should properly decode all 66-bjt yectors dnd rdceive the [friame. \/
/]

o)

Comments on Test Results

a. DUT was obser¥ell fto properly decqde
b./ The DUT was obséfrved/to proper|y|decade

5 and recejvethe frame

5 and recgive the frame

c/ The|DUT was obsgrved to properly|decade| gl 6—)9&7vectors and réceive the frame
Y

est 49.6.3] Identifidatipn off H_TYPE(T) a PASS

Comments on Test Procedure

urpose; Toeyify[that the DUT properly 'di@fies the reception of R_TYPE(T) vectors.

Instrjct the testing statjon to fransrhit the following 66-bit vectors to the DUT, containing the appropriate
es$, and using 0x00|for all control characters:

0C]_C2C3/C4C5C6C7 D0D1D2D3/T4C5C6C7
0ThC,Cs/C4CsCeC; | DyD1D,D4/D4T5CeCs
OD 1T2C3/C4C5C6C7 DOD1D2D3/D4D5T6C7
QB 1D2T3/C4C5C6C7 DOD1D2D3/D4D5D6T7
oyld properly decode all 66-bit vectors and receive the frame.

ololcold

Comments on Test Results

N
a. The DUT was observed to properly decode all 66-bit vectors and receive the frame.
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University of New Hampshire — InterOperability Laboratory
DUT: 10 Gigabit Ethernet Switch

Test 49.6.4: Identification of R_TYPE(D) a PASS
Comments on Test Procedure
Purpose: To verify that the DUT properly identifies the reception of R_TYPE(D) vectors.

Procedure:
a. The testing station is instructed to transmit data blocks to the DUT such that the DUT is placed in tife RX| D
state. All valid data blocks should be sent to the DUT. The DUT should properly decode all 66<bit veft

and receive the frames.

Comments on Test Results

a. The DUT was observed to properly decode all 66-bit vector’s and rec}ive the fraEy \ / /\ \ {
/N !

Test # and Label
Test 49.6.5: Identification of R_TYPE(E) P e AA$S

Comments on Test Procedure

Purpose: To verify that the DUT properly iddntifies the receptiof] oqﬂ_T fE@v clor¥. U/ U &

Procedure:
a. Instruct the testing station to transmit the fifst gf the\followipg 66-Kit yectorsfo the BUT:

Ca\ || €s7lICs Cr
ox0D || Axpo]] [oxpo /] Ox1E
Dx00 || 0x00/ | [oxE” | 0x00

Sync | Block type | C, C.| || & Cs
10 | Ox1E 0x@0\ | ox0| | /ox0d | 0x(
10 | Ox1E LAdx00 || pxpq [[0x0d | 0xd
10 | ox1E ~ | okoo || px0d |[oxo0 | oxQo | ¢xoq | ox1E [|oxpo | 0x00
10 |oxiE/ \ | oxo0 | px0¢ | oxo0 | 0xQo | dx1E | 0xg0 ||oxpo | 0x00

0
0
0
0
10 | 0YiKE/ 0x80 | ox0d | 0xp0 | 0x1E | 0x00| [\ex00 [[0xPp0 | 0x00
10 JPx1E 0%00 | pox0d [Ox1E | oxdo | oko2’ | 0x00 [[oxPp0 | 0x00
10 || Px1E okop | ox1& [[0xeq | oxd0 | 0X00 | 0x00 [[0xPO | 0x00
0
hﬂu 57/ K_

10, || Ox1E ok1E [ oxpd [\okod | oxdQ 0x00 | 0x00 [[px00 | 0x00
ould ;‘rcperh/ d?c dd 41l 661bif Vecfoys as R][BLOC TYPE(E).

Comments on Test Results

v %
%. R\D[U—‘l /J/as observed|tq properly d;cc dejall 66-bit vectors as R_BLOCK_TYPE(E).

W

o
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University of New Hampshire — InterOperability Laboratory
DUT: 10 Gigabit Ethernet Switch

Test # and Label Part(s) Result(s)
Test 49.6.6: RX_INIT state abd PASS
c Not Tested

Comments on Test Procedure
Purpose: To verify that the DUT passes local fault across the XGMII when in the RX_INIT state.

When the DUT has been reset, is in a test mode, is receiving frequent errors, or does not have block lofk,it Myill
remain within the RX_INIT state. While in this state, the DUT will be sending local fault blocks~up 4crpsg the
XGMII to signify that the receiver is not operational.

When the DUT does not have block_lock, it must pass continug
When the DUT has hi_ber, it must pass continuous local faultcross\the XGMI|I
When the reset signal is set, the DUT must pass continuous [local fault across the
When in the receive test mode, the DUT must pass continudus local fault gcrgss

coop

Comments on Test Results

| fault a¢ross the
4 the XGMII|

When the DUT does not have block lock; it was observed tp progerl

When the DUT has high_ber, it was obsprvied to properly pass Jogal |f uI ¢ro
This test was not performed during the tgsting period.

When in the receive test mode, the DUT W asﬁ/ed to properly/pass local | fault across the G W The

oo

DUT was put into the receive test mode jy [setting bit 3.42.5.

Test # and Label Result(s)
Test 49.6.7: RX_C state 4
Comments on Test Procedure

zation, and when y |Id C blogks|are being observed at the

iguke 49-15. |The’DUT will rgmain in this state as long as
pon the rgception of an S blogk, the DUT will transition
force the'DUT to the RX_E sfate.

bif vgctors/and remain in the RX_C state while receiving C blocks.
bi{ vectoys and transition to the RX_D state while receiving an S

bit vectors and transition to the RX_E state when receiving E, D, or

t%o perly decode all 66-bit vectors and remain in the RX_C state while receiving C

served to properly decode all 66-bit vectors and transition to the RX_D state while

s observed to propérly decode all 66-bit vectors and transition to the RX_E state while receiving
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University of New Hampshire — InterOperability Laboratory
DUT: 10 Gigabit Ethernet Switch

est # and Labe Pa Re
Test 49.6.8: RX D state a-d PASS
Comments on Test Procedure
Purpose: To verify that the DUT properly behaves while in the RX_D state.

66-bit level, the DUT will enter the RX_D state in Figure 49-15 upon the reception of an S block. The
remain in the RX_D state as long as valid D blocks are being received. The DUT will transitiomto the|RK| T
state upon reception of a T block, provided that the block following the T is either an S or C blgtk. Yo
combinations of received blocks, the DUT will transition to the RX_E state.
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Comments on Test Results

The DUT was observed to properly decgde|all 66-bit vectors a d r n In thel RX[ O state. U \/
The DUT was observed to properly decgde|all 66-bit vectorp itionto the RX| T|state:
The DUT was observed to properly decqde allm vectorp and tr ngition to the E|state.

oo

The DUT was observed to properly decgde|all §6-bit vectors and trangition tgthe RY_E| state.

N\

Test # and Label ) Result(s)
Test 49.6.9: RX_T state N 4-b N/ PASS

Comments on Test Procedure
havel while ih the RX [T bt \/

syn¢hropization, and Whan valid D blogks|are being observed at the
atelin Rigure,49-15|upon thé reception ¢f gn S block. The DUT will
D hlocks gre[being [reckived. The DU Il transition to the RX_T
that|theublogck following the T is eitheran S or C block. Once the
n tp either the RX_C or RX_D state, depending on the next code.

bif _
nde aII 61bif vectors, and transition to the RX_D state.

bser
bser

oenly decode all 66-bit vectors and transition to the RX_C state.
oenly decode all 66-bit vectors and transition to the RX_D state.
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University of New Hampshire — InterOperability Laboratory
DUT: 10 Gigabit Ethernet Switch

Test 49.6.10: RX_E state a-e PASS

Comments on Test Procedure

Purpose: To verify that the DUT properly behaves while in the RX_E state.

When the receiver of the DUT encounters some sort of error, it will transition, from any other state, to th E
state. While in this state, regardless of the 66-bit words coming into the receiver, error blocks will bg dg¢cqded
and passed up to the XGMII. If errors are received in the middle of a frame, the DUT may retugato the D
state when it receives a valid D block, or transition to the RX_T state at the end of the frame. [f va|id|C blpeks
are received, the DUT will transition to the RX_C state. The DUT will remain in the RX/ E state if grrors
continue to be received or if an S block is encountered.

a. The DUT should properly decode all 66-bit vectors and transition to the RX_D gtatg.
b. The DUT should properly decode all 66-bit vectors and transition to the X
c. The DUT should properly decode all 66-bit vectors and transition to the RX_ v
d. The DUT should properly decode all 66-bit vectors and remain(in\thgf RX_E s
e. The DUT should properly decode all 66-bit vectors and remain|in|th
Comments on Test Results
vV

a. The DUT was observed to properly decgde|all 66=kjt vectorp and trangdition to
b. The DUT was observed to properly decade|all $6-bit vectors and trangition t
c. The DUT was observed to properly decgde|all/66-bit vectors and trangitigrrto th
d. The DUT was observed to properly decqde|al] 66-bit|vectors amd remain jin the H
e. The DUT was observed to properlydecqdela 6/53\bit vectors and remgin {n theg H

BN
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University of New Hampshire — InterOperability Laboratory
DUT: 10 Gigabit Ethernet Switch

GROUP 7: Test Pattern Verification

Test # and Label Part(s) Result(s)
Test 49.7.1: Pseudo-random test pattern transmission a-b Not Available
Comments on Test Procedure

Purpose: To verify that the DUT generates the correct pseudo-random test patterns.

the appropriate signals used for testing. When the PCS offers a direct connection t
implementation of the generator and checker is mandatory. The jitt
using specific seeds that are regularly loaded through the MDI
patterns to be scrambled. Every 128 blocks, the scrambler is |
the following pattern: Seed A, Seed A Invert, or Seed B, Seed
Clause 52, and shown in Table 52-20. The data patterns fed
encoding of two Local Fault ordered_sets, and the data pattern

a. The DUT should properly generate PseudotRandom Test P4tte
b. The DUT should properly generate PseudotRandom Test Pgttetr

Comments on Test Results

a. This test was not completed during the test
b. This test was not completed duringtke test

A

ng period| due to
ng pé¢riod|due to

Test # and Label Result(s)
Test 40.7.2: PRBS31 testpattern{transmissio ; Not Available

Comments on Test Procedure - -
re¢t PRBS31 Tﬁyathﬂm. U
n optional RRB$31 t tern/mode that’can be implementgd within the PCS for both

Pyirpose] To verify t atlfhe DUT bédnefatks fH

ansmisgion and dheckifig af the| pattern. h Selectedl, the generator sends 16 bits of the test pattern at a time
ypaksing| the [sctambler. [The patfern generator implements an inverted version of the bit
ith the following ial: G(Y'= 1 + x*® + x*. Register 3.42 controls the different test
ransmitted and checked.

[e]

QD

i propetlyl ggnerate the PRBS31 test pattern.

Comments on Test Results

a. is test{wps nat cnr@tid/dtring the testing period due to test station limitations.
/
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Test 49.7.3: Square wave test pattern transmission a Not Available

Comments on Test Procedure

Purpose: To verify that the DUT generates the correct square wave test pattern.

Certain PMD tests that need to be performed require that the PCS generate a square wave pattern. Such
necessarily needs to bypass the encoder and scrambler, and does not contain any sync bits. When t
wave pattern is selected, the PCS will send a repeating pattern of n ones followed by n zeros whe m
number between 4 and 11, inclusive. The value of n is and implementation choice, and may be/a prog
value in some devices. Register 3.42 controls the different test patterns that can be transmitted gnd chec

a. The DUT should properly generate the square wave test patMWl values of[p./l/\ /\

Comments on Test Results

a. This test was not completed during the testing period due to teﬁati%n/imita%o
Ja)

>
2

4

Test 49.7.4: Pseudo-random test pattern reception b ot’Avgilable

Comments on Test Procedure
Purpose: To verify that the DUT generates the Y V
nted in/the PCS. This
e the DUT into transmitting

Clause 49 defines a pseudo-random test patte

engrated by the scrambler,
onge of two possible data
segds, or their inverses, in

f the seeds are defined in

e gither all zeros, or the
inverted seeds are being
gcked.

—

erse, a match is detected. Since the transmitter’s scrambler
d the receiver’s descrambler is running normally, a mismatch will
dbsence of errors. Therefore, the receiver will count in 128-block

Comments on Test Results

aUTis test was not completed during the testing period due to test station limitations.
b.~This test was not completed during the testing period due to test station limitations.
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Test 49.7.5: PRBS31 test pattern reception a Not Available

Comments on Test Procedure

Purpose: To verify that the DUT generates the correct PRBS31 test pattern.

ur, the
0 high
herrpr V]

received to the result of the PRBS31 generator based on the pfior 31 bits received

pattern error signal will be zero. When an isolated bit error occprs, the

RB at
three times, and the test-pattern error counter will increment onge for each bjt timg t
signal is high.
a. The DUT should properly receive the PTEYSBl test pattern, and propér ﬂmtai

Comments on Test Results

a. This test was not completed during the test ngﬁ due to|test st%io Iikao

i
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